Contribution of a central
source



0. Energy budget

Power from SNa (standard model) : 10*! erg/s

Fermi Bubbles : F. Guo & W. Mathews, APJ 756(2): 181, 2012
Total emitted power : 10*1 - 10*3 erg/s




1. Model Description
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2. Energy Spectrum of Primary CRS
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Influence of L
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3. Secondary CRs fluxes
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Qi. spallation = + o1, r1nrsyv B3 P 1(0,7T); for secondary CR



B/C

ModelKrl

+ L LT

—— solution with Smod
-+ AMS02 2011-2016

0.30
0.25
F
0.20
""‘l_‘.
"-‘,.!-‘_

0.15

Parametres de propagation : L
0.10 - Dy=0.09 kpc2.Myr—! bl

D « (v/c)xR® , 6 =0.5 S

Ve=10.0 km/s
0.05 va=30.0 km/s I [

®r=0.2 GV

Qe x E®, 6=-2.4
0.00

T IIIIIII T T IIIIII T T IIIIIII IIIIII T T IIIIIII
10° 10! 102 103 104

T _kin per nucleon [GeV]




4 .Discussion regarding the stationnary
scenario
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Green’s solution
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